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QID : 201 - In the following question, select the related word pair from the given alternatives.
Fire:Burn::?2:?

rATaf@d e & fow 1w fashedt 7 & Gl ereg o 1 GiAT|

Options:

1) Water : Drink

qret : T

2) Wood : Trees

e : U

3) Ice : Freeze

6 : STHATAT

4) Flower : Rose

Bl @ I

Correct Answer: Ice : Freeze
IF : SFTAAT

Candidate Answer: Ice : Freeze
TF : SFTHATAT

QID : 202 - In the following question, select the related letters from the given alternatives.
KLMN : IJKL:: TUVW:?
PrAfaf@d e & fow 1w fashedt 7 & Fefta 3eRT I giav)

KLMN : IDKL : : TUVW : ?

Options:
1) RSUT

2) VWXY
3) STUV

4) RSTU

Correct Answer: RSTU

Candidate Answer: RSTU

QID : 203 - In the following question, select the related number from the given alternatives.
3:27::4:?

fPrAfaf@a gea & faw 1w fashedt # & Faftia dear & giav)
3:27::4:?

Options:

1) 63

2) 64

3)65

4) 15
Correct Answer: 64
Candidate Answer: 64
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QID : 204 - In the following question, select the odd word from the given alternatives.

TerATafae yeat 3 few 1w fashout 7 & fawe oree; 1 giav|

Options:
1) Ludo
el

2) Chess
ST

3) Polo
qrer

4) Carrom

A

Correct Answer: Polo

arer

Candidate Answer: Polo

qrelr

QID : 205 - In the following question, select the odd letters from the given alternatives.

T 9o & U 91 fashoul & & fawe 31eRi &1 giav|
Options:

1) DGJ

2) KNQ

3) RUX

4) ILN
Correct Answer: ILN
Candidate Answer: ILN

QID : 206 - In the following question, select the odd number from the given alternatives.

PrAfaf@d e  fow a1e fashedt 7 & fawer dear & giav|
Options:

1) 31

2) 37

3)43

4) 49
Correct Answer: 49
Candidate Answer: 49

QID : 207 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Storm
2. Strap
3. Strangle
4, Stamped
5. Satire

AT ersal T ersaahier # e arel e & TR fordd|

1. Storm
2. Strap
3. Strangle
4, Stamped
5. Satire

Options:
1) 51432

2) 51342
3) 54132

4) 53412
Correct Answer: 54132
Candidate Answer: 54132
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QID : 208 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
BT, DR, FP, ?
T 31efha T ara B, Fed & Uk ug ofed 81 v arv femedl & & g @éY e gfAiw, S siegsma @ @ |

BT, DR, FP, ?
Options:

1) HO

2) HN

3) NH

4) OH
Correct Answer: HN
Candidate Answer: HN

QID : 209 - In the following question, select the missing number from the given series.
3,8,5,27,8,64,12,125,17,?
frafaf@a gea & T a1w fsredt # & qed 3t w1d AT

3,8,5,27,8,64,12,125,17,?
Options:

1) 216

2) 361

3) 625

4) 441
Correct Answer: 216
Candidate Answer: 216

QID : 210 - The ratio of present ages of P and Q is 5 : 8. Three years later their ages will be in ratio 8 : 11. What is the present age (in years) of Q?

P T Q T AT 3T T 3T 5 : 8 F| clieT Al AT 3T 3T 8 : 11 % 31U H gIell| Q Y FTATST Y (st ) w2

Options:
1)5

2) 11
3) 14

4)8
Correct Answer: 8
Candidate Answer: 8

QID : 211 - Pointing to a lady, Diwakar said, "Her mother's only grandson is my son." How is that lady related to Diwakar?

Teh T Y R Fehel Tl §U T&aTehT 1 ST ‘SHHT HT T ThaATs Al T I &1 et 380 T & foher 9 Feifere &2
Options:

1) Aunty

Tg’B-lT

2) Sister

ErRo

3) Mother

AT

4) Wife

el

Correct Answer: Sister
dg && Wife

el

Candidate Answer: Wife

Eriy

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢ 3/33
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QID : 212 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
Biological
T 1T eaT &, e=ATe i@ faehedl # & a8 2o YT T 14T 1T 2req o 36T T THIT FXeh 76T F=A14T ST Hehell &

Biological
Options:
1) Logic
2) Globe
3) Bail

4) Bill
Correct Answer: Globe
Candidate Answer: Globe

QID : 213 - In a certain code language, "who are you" is written as "432", "they is you" is written as "485" and "they are dangerous" is written as "295".
How is "dangerous" written in that code language?

s faflise sz T 7, "who are you" 1 "432" for@r SIaT §, "they is you" FI "485" for@r SITaT § AT "they are dangerous” & "295" for@r ST &1 59 HI5
ST 7 "dangerous” &I fhe TR for@r Sreem?

Options:

1)2

2)4

3)5

4)9
Correct Answer: 9
Candidate Answer: 9

QID : 214 - If "P" denotes "multiplied by", "R" denotes "subtracted from", "S" denotes "added to" and "Q" denotes "divided by", then which of the following
equation is true?

e P T 31 AT ¥, "R B e e ¥, 'S" T 3 S &t Q" b 3 T ¥, | AR # & e wefieor 7l 8
Options:

1) 18R60Q 1552 =38

2)15S16Q2P4 =47

3)3P5R18Q3=6

4)15528Q4P2=27
Correct Answer: 15516 Q2P 4 = 47
Candidate Answer: 15516 Q2P 4 =47

QID:215-If4*7* 2 =361and 5 * 9 * 1 = 480, then
2*¥1*%3=7?
IfE4*7%2=361dur5*9*1=480gdr

2*%¥1*%3=7?

Options:

1) 312

2) 324

3) 210

4) 102

Correct Answer: 102

Candidate Answer: [ NOT ANSWERED ]
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QID: 216 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

oreafarag v # fm or eeur # @ uyw e
(?) & FAET W A drell AT A FT)

3 10 6 186
9 5 3 | 138
5 7 1 36
3 2 5 ?

Options:

1)35

2) 42

3) 45

4) 95

Correct Answer: 35
Candidate Answer: [ NOT ANSWERED ]

QID: 217 -
How many triangles are there in the given figure?

& o st # R Fager ¥

VAN
Jr.-‘ \‘.
y ;
' ‘\\
e \
i
T T
/f 7 \ i \\\
ool SRS \
Options:
1) 10
2)11
3)12
4)13

Correct Answer: 11
Candidate Answer: 11

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢ 5/33
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QID : 218 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All cups are vegetable.
II. All vegetable are pens.

Conclusions:

1. Some pens are vegetable.
II. Some pens are cups.

A T T Gedeh 99 A F HYA AR 3oTh 916 31 FYA R IR Fo5 sy B 31w §, grefifen 308 Qe A1d qedi § fieear g @ &1 qelt fosend ud 3ik
o i &Y o faw ore sl & T T a1e et o 3R R gieasera 8

HYe:

L. @3h w9 Ffeerat &
I1. T3t afesrar 9= §1

oSy

L. 35 O |feora 81

I1. & 9 &7 &

Options:

1) Only conclusion (I) follows.

el sy (1) @@ 8

2) Only conclusion (II) follows.

hael sy (1) TET &1

3) Both conclusion follow.

et & forsmd @ 1

4) Neither conclusion (I) nor conclusion (II) follows.
A ar sy (1) 7 & sy (11) T&r &1
Correct Answer: Both conclusion follow.
At & forwmy @ 1

Candidate Answer: Both conclusion follow.

CGIRIRGE AR R

QID : 219 -

Three positions of a cube are shown below. What
will come opposite to face containing ‘5'?

& o og & P JaTaT AT T § HE
‘5’ o o W FiF @1 34F e

Options:
1)6

2)1
3)3

4)2
Correct Answer: 1
Candidate Answer: 1

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢ 6/33
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QID : 220 -
In the given figure, how many are musical toys?

& T8 Fga A, e wefiaaw el €2

Electronic /
Musical / Solaeiaeh
g Y
/33[17_ 18
‘ \l 5 Toys /
14 |28 | 11 o
\ / ferstat
-l " 25
Options:
1) 53
2) 61
3)42
4) 45

Correct Answer: 42
Candidate Answer: 42

QID: 221-
Which answer figure will complete the pattern in the
question figure?

Fla O 39 gl Uy Hgla & uRlww & @
HLA?

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢ 7133



9/8/2017

Options:
1)

2)

3)

4)

Correct Answer:

Candidate An

swer:

QID : 222-

Staff Selection Commision

From the given answer figures, select the one in

which the question figure is hidden/embedded.

& T I HFOA A ¥ 3§ W AP @ gEAT

fora & wwr 3@ BART B

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢
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Options:
1)

2)

3)

4)

v B @ 2

Correct Answer:

©

Candidate Answer:

©

QID : 223 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

dr F oy Hgadl # REW AR FEE @
ABHT Tedd JIUT Tield & aI¢ I8 hd 3R HHa
s e gam?

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢ 9/33
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Options:
1)

2)

3)

4)

 m—|

| m—

Correct Answer:

—

—

Candidate Answer:

—

—

QID: 224 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

TfE 0 IGUT F AB W WX @ AW, &Y & o
TAT HHEAr # T FiF O HFpfa v JEa f
e ufafess aefr?

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢ 10/33
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Options:
1)

A

v|AA

2)

3)

Correct Answer:

A

v
AA|lvy

Candidate Answer:

A

v
AA|lvg
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QID : 225 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘S’ can
be represented by 21, 43, etc, and ‘O’ can be represented by 65, 88, etc.
Similarly, you have to identify the set for the word “SPEAK”.

Teh eg dhad U HEAT-HAG g1 g T g oter iR fowedt # @
T o & TG mar §) At A Br v dmar-ads e & gr a9t
gr1 geiw are € St ®5 fQu aw @) aneypt # &1 e & wEA 3R
Ot & TEar 0 @ 4 ¥ A anegpn 58 91 39 W § U HEW A
ugel 3a Ui IR aig A FAEH EET GRT GRIAT S WA §1 3GI0T
& fom ‘s’ @ 21, 43, W g0 g ST WHA § W ‘O’ F 65, 88,
it gmr gefar o dwar ¥ o=@ R @ sy um A Ry e
“SPEAK” & foiv @afp @ UggEer &

Matrix-| Matrix-ll
TG eIl
012 3|4 S(6|7]8|9
0|1 |C|E|P|S 5(R|O|A|K|B
1|S|E|P|1]C 6(OAK[B|R
2IE|S|I |[C|FP fFT1A|K|B|R|O
2|CIP|S|E]|I 8(K|IB|R|[O|A
4|1P|I |C|S|E 9(B|R|O[A|K

Options:
1) 10, 12, 11, 66, 58

2) 43, 31, 33, 89, 86
3) 21, 40, 44, 56, 99

4) 32, 03, 20, 97, 66
Correct Answer: 10, 12, 11, 66, 58
Candidate Answer: 10, 12, 11, 66, 58

QID : 226 - Which one of the following is not an instrument of credit control in India?

AT 7 & FieT AT HRA & FOT FAF0T HT T TFR 76T 62
Options:

1) Rationing of credit

FOT bl IMRMeT

2) Direct Action

el sraTer

3) Open Market operations

Gl TR & HwaT

4) Variable cost reserve ratios

ARG SfTel RTETT fATer et

Correct Answer: Variable cost reserve ratios

aRactel amTed IRTE AR sregara

Candidate Answer: Direct Action

el HrFardr

QID : 227 - Which among the following is an example of micro-economic variable?

frafaf@e 7 & #ia a1 gaw 3nfdie @ 1 v 3amEor 87

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 12/33
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Options:

1) National Income

TS 31T

2) Aggregate Supply

el 3Tt

3) Employment

LS LT

4) Consumer's Equilibrium

SYSIFAT Helal

Correct Answer: Consumer's Equilibrium
EREICTIRGCE]

Candidate Answer: Aggregate Supply
el Tfel

QID : 228 - Fundamental duties are mentioned in which of the following part of Indian Constitution?

HRAT Tiaes & forg Reafaf@a amr 7 Ao wdcat #1 Ieome §?
Options:

1) Part II

AT 11

2) Part III

19T 111

3) PartV

ATV

4) Part IV A

HATITIV A

Correct Answer: Part IV A
HETIV A

Candidate Answer: Part III
AT 111

QID : 229 - What is the minimum age for becoming a Governor of state in India?

R # I &I AT deiel o [IT =T Y fehctir &2
Options:

1) 30 years

30 a¥

2) 25 years

25 a§

3) 35 years

353y

4) 45 years

45 a¥

Correct Answer: 35 years

359§

Candidate Answer: 35 years

35y

QID : 230 - Who amongst the following was the successor of Sikh Guru Har Krishan?

T # @ iel [Aew & & e & Seaitsny 97
Options:

1) Guru Angad Dev

& 3791 &

2) Guru Tegh Bahadur

9T 9T FETGY

3) Guru Hargobind

& gISTe

4) Guru Amar Das

ITE IER &

Correct Answer: Guru Tegh Bahadur
I A I

Candidate Answer: Guru Hargobind
RS [SCUIEE-Y

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢
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QID : 231 - Lord Cornwallis is known for .

TS Falford T _____ o ol ST STl 8

Options:

1) permanent revenue settlement of Bengal

FaTTer T TR JorEd SgaEAT

2) attacking the caste system

ST STTEAT W 9ER

3) land revenue settlement of United States

TYeFT AT T 3-ToIEd cgaedT

4) ryotwari settlement of Madras

HETH $T AT sgaEdr

Correct Answer: permanent revenue settlement of Bengal
ST T TATY ToTEd eTawar

Candidate Answer: permanent revenue settlement of Bengal
FaTTeT T TR JorEd SgaEAT

QID : 232 - 49th Parallel is the boundary line between which two countries?

49 dF FATATR 3@ fohe ar g2t & Fe & AT @n g2
Options:

1) USA and Canada

YT T AT FUT FeATsT

2) North and South Vietnam

Scadt aur gfalt o

3) Germany and France

ST AT W

4) Brazil and Chile

STSirer J2r e

Correct Answer: USA and Canada
GYF A AT TAUT HaATsT
Candidate Answer: USA and Canada
YT T AT FUT FeATsT

QID : 233 - How does La-Nina affect the Pacific Ocean?

AT 1T g2l AGRARR W fhE YR & TG STerclt 87
Options:

1) Decreases salinity of ocean

FETEIR T WRIGT HH HY &l &

2) Cools downs the temperature of water

ST FT ATIHTT HH F ST &

3) Maintains stable temperature of water

STel & TIHTT T R T T &

4) Increases salinity of ocean

HAGTHRR &I @RI §¢T & §

Correct Answer: Cools downs the temperature of water
STel T cITAHTET & T ST &

Candidate Answer: [ NOT ANSWERED ]

QID : 234 - Cinnamon is obtained from which part of the plant?

T & g 19T F STeri= UTe fohar Sirar &2
Options:

1) Stem

=G

2) Bark

Bl

3) Roots

k)

4) Fruits

Bl

Correct Answer: Bark
Bl

Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢ 14/33
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QID : 235 - Insulin is a kind of

gogfolel Teh GohT T gl
Options:

1) hormone

[Eic

2) protein
Elc

3) enzyme
TS

4) vitamin

e

Correct Answer: hormone
g

Candidate Answer: hormone

[Eic

QID : 236 - Which among the following carries impure blood to human heart?

ﬁmﬁ@aﬁ@rﬁammwmygwﬁmﬁﬁ
Options:

1) Aorta

AT HSAT

2) Pulmonary vein

3 T AH

3) Pulmonary arteries

HHE Hr gAfAT

4) Vena Cava

HETRRT

Correct Answer: Pulmonary arteries
HHg Hr gAfAT

Candidate Answer: [ NOT ANSWERED ]

QID : 237 - Why does water tank appear shallower when viewed from the top?

FIUT U ST IX T 7 S 3l T R@rS & 2?7
Options:

1) Due to reflection

gfafds & HRT

2) Due to refraction

3T & FROT

3) Due to diffraction

faadeT & FROT

4) Due to total internal reflection
el TR gfdfeT & HRoT
Correct Answer: Due to refraction

39T % HROT

Candidate Answer: Due to refraction

3799 F HROT

QID : 238 - Which colour is formed when Red and Green are mixed?

TSl 2T &Y 39T & TAS0T & hieT AT 197 ure ghem &2
Options:

1) Light blue

goehT aitell

2) Yellow

drer

3) White

ad

4) Grey

Heldr

Correct Answer: Yellow
der

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢
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Candidate Answer: Yellow

drelr

QID : 239 - What is the full form of JPEG?

JPEG &7 3r%fared 9 &7 §?

Options:

1) Joint Photographic Experts Group

SASE BICTATTtheh TFHIEH Iq

2) Joint Protocol Experts Graphics.

SaIge Wielhlel TFaucy ATherd

3) Joint Programming Experts Graphics

Faige WA TFEuEH Amihey

4) Joint Project Experts Group

Faige Weiee TFHaed 9

Correct Answer: Joint Photographic Experts Group
SAST BICTNThe THFATEH 49

Candidate Answer: Joint Protocol Experts Graphics.

SaIge Wielehlel TFaucyH ATRhed

QID : 240 - What is an endothermic reaction?

T FSATNYT wfafshar & gt 87

Options:

1) Reaction in which heat is released.

gfafsrar et Fear faafRa g gl

2) Reaction in which heat is absorbed.

gfafsrar foe FsAT 3 g g1

3) Reaction in which neither heat is released nor absorbed.
gfafsrar fore# & af AT famRa g & 3R o & safda g 81
4) None of these

ERE R

Correct Answer: Reaction in which heat is absorbed.

gfafsrar foge AT @i g &1

Candidate Answer: Reaction in which heat is absorbed.

gfafsrar foas oAt 3T adr &1

QID : 241 - Which of the following is an ore of Aluminium?

rAfaf@d & @ #ia rcgenfergs &1 3raes §?
Options:

1) Galena

ITeIAT IT ATEROT HedT Frr
2) Cryollite

FHIATASE

3) Cinnabar

IE3GIEIRY

4) Epsom Salt

T AHAF

Correct Answer: Cryollite

FHIRATAST

Candidate Answer: [ NOT ANSWERED ]

QID : 242 - Which of the following gas was released during Bhopal gas tragedy?

ﬁmﬁ@aﬁ@%&%wmmwm#mgmw

Options:
1) Methyl isocyanate

[GRIEE IR T Eor

2) Sodium isothiocyanate

Az smsaREaEae

3) Nitrogen isothiocyanate

ATECIS AT ERAT

4) Potassium isothiocyanate

I RTH JEaREEEAT

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢ 16/33



9/8/2017 Staff Selection Commision

Correct Answer: Methyl isocyanate
[GRIEC IR B Eor

Candidate Answer: Methyl isocyanate

HIIE NFAEAEAT

QID : 243 - What is the name of the scheme for the Employees State Insurance Corporation (ESIC) beneficiaries launched in Delhi region?

FHAARY T AT Tarar & emenfiat & forw Rech &7 7 & i 78 st &1 aar a1 82
Options:

1) Sakushal Humesha

LRI AT

2) Kahin bhi kabhi bhi

et ofr ey ofY

3) Jeevan Arogya

ST 3R

4) Shramik Kalyan

#THF FHoedToT

Correct Answer: Kahin bhi kabhi bhi
et ofr ey ofY

Candidate Answer: [ NOT ANSWERED ]

QID: 244 -
Match the following.

Arafetaa o e Hifam

Scientist / d=fa® Discovery / @<=
1. Joseph Thomson a. Optical Fiber
(TeRTTE HIZeR)
2. Alexander Fleming b. Radium
JolTaiEt FIfeT SSEDE )
3. Narinder Kapany c. Electron
afiex wmue EECAG]
4. Marie Curie d. Penicillin
FH Fd ofarfaferT

Options:
1) 1-¢, 2-d, 3-a, 4-b

2) 1-a, 2-d, 3-c, 4-b
3) 1-¢, 2-3, 3-d, 4-b

4) 1-a, 2-d, 3-b, 4-c
Correct Answer: 1-c, 2-d, 3-a, 4-b
Candidate Answer: 1-c, 2-d, 3-a, 4-b

QID : 245 - Term ' Gambit ' is associated with which of the following sport?

grsg "NfFae Fafafea & @ 5w @ @ gafta &2

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢ 17/33
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Options:
1) Basketball
SrEhedler
2) Chess
AT
3) Boxing
eI
4) Golf
Mew
Correct Answer: Chess
AT
Candidate Answer: [ NOT ANSWERED ]

QID : 246 - Madhuri Dixit is associated with which Indian Dance form?

ATl Qfard e TR Fjcasholl & et 87
Options:

1) Bharatnatyam

I AATCTH

2) Kuchipudi

3) Kathak

$hYh

4) Kathakali

FUH

Correct Answer: Kathak

Eaica

Candidate Answer: Bharatnatyam
HIAATSTH

QID : 247 - Who among the following is a Sanjay Chopra Award recipient for 2016?

Arafaf@a # @ #la 2016 & Horg =IsT RERR Tredhdr 82
Options:

1) Abhinash Mishra

37fFaTer s

2) Arjun Singh

33 e

3) Aromal SM

3RIAS TH TH

4) Srawanand Saha

Halelee AT

Correct Answer: Arjun Singh

w4 e

Candidate Answer: [ NOT ANSWERED ]

QID : 248 - 'My Story' is an autobiography of which famous cricketer?

'A1E TR fohe g forche FaemsT 7 Siaet 2
Options:

1) Kumar Sangakara

FAR FIMHRT

2) Kevin Peterson

HifgeT drexaeT

3) Brendon Mccullum

4) Michael Clarke

HISHA Follch

Correct Answer: Michael Clarke

HAISHA Follh

Candidate Answer: [ NOT ANSWERED ]

QID : 249 - Which country has approved more than 500 new settler homes in East Jerusalem?

o ger & gt eere# # 500 & 31 MeTehR BT T Al & §2
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Options:
1) USA
TYF T AR
2) UAE
TYFA 3RS IR
3) Israel
AT
4) United Kingdom
FeTses s
Correct Answer: Israel
AT
Candidate Answer: Israel
ERzlacy

QID : 250 - Which of the following country is not a member of SAARC?

AFafaf@a & & i ar o a1k a1 TG 78T §?
Options:

1) Nepal

AqTer

2) Maldives

AT

3) China

Gic

4) Afghanistan
AT

Correct Answer: China

et

Candidate Answer: China

T

QID : 251 - By which least number should 5000 be divided so that it becomes a perfect square?

5000 I fore BIET & oI Fear ¥ fFenfaa o o o a8 ve ot a9t a1 sme?
Options:

1)2

2)5

3) 10

4) 25

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID : 252 - A can do a work in 8 days, B can do the same work in 10 days and C can do the same work in 12 days. If all three of them do the same work together
and they are paid Rs 7400, then what is the share (in Rs) of B?

A TS T FT 8 e H X TohcT &, B 3T 1T 1 10 T & X el § TAT C 38T FY Y 12 & 7 T Iopar &1 T § oY 39 1 ol A1 F AT 7 § T 3¢
7400 %. feU a7 €, Y B 7 feeam (3. &) fhder gem?

Options:

1) 2600

2) 3000

3) 2400

4) 2000

Correct Answer: 2400
Candidate Answer: 2000

QID : 253 - If the radius of the cylinder is increased by 25%, then by how much percent the height must be reduced, so that the volume of the cylinder remains
same?

T SofeT Y AT 7 25% Y gig Y ST 8, O 3T Far$ 7 Frctar wfcreras iy et iy Sl Tnfgw arfer Sefet &1 et FA = @2
Options:

1) 36

2) 56

3) 64

4) 46

Correct Answer: 36

Candidate Answer: 64

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢ 19/33



9/8/2017 Staff Selection Commision

QID : 254 - The marked price of an article is 20% more than its cost price. If 5% discount is given on the marked price, then what is the profit percentage?

Teh a1 3ifehdl Hed 3HH T Hod A 20% I &1 T T & 3T 7o X 5% $T ge &1 918 §, o amet gfaera e 82
Options:

1)5

2) 14

3) 15

4) 25

Correct Answer: 14

Candidate Answer: 14

QID:255-IfA:B=2:5B:C=4:3andC:D =2:1, then whatis value of A: C: D?

afgA:B=2:5B:C=4:3duC:D=2:1,aA:C: D A fohdall gHM?
Options:

1)6:5:2

2)7:20:10

3)8:30:15

4)16:30: 15

Correct Answer: 16 : 30 : 15

Candidate Answer: 16 : 30 : 15

QID : 256 - The average runs conceded by a bowler in 5 matches is 45 and 15.75 in other 4 matches. What is the average runs conceded by the bowler in 9
matches?

T IgaTeT gaRT 5 FAT # GF 9 3T I 45 § aUr 3w 4 AT F 15.75 §1 9 A 7 Igaa & gan fev v 3ihad T e 87
Options:

1) 15

2) 32

3)35

4) 53.5

Correct Answer: 32

Candidate Answer: 32

QID : 257 - A person bought pens at 25 for a rupee and sold at 15 for a rupee. What is his profit percentage?

TH AFT 1 5. 7 25 Foldd TASATE dAT 1 &, F 15 Ford] ST &1 3TT 19T Ifaerd fhae §?
Options:

1)
16g

3
2)

331

3

3)

(3(:‘:g

3
4) 40
Correct Answer:

68g

9

Candidate Answer: [ NOT ANSWERED ]

QID : 258 - 80 litre mixture of milk and water contains 10% milk. How much milk (in litres) must be added to make water percentage in the mixture as 80%?

Y T UTel & 80 e TAOT 7 10% & 81 FA#0T & Uil & i s 80% STt & faiv fohctalr gy (eMeX &) ffarar ugam?
Options:

1)8

2)9

3)10

4)12

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED ]
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QID : 259 - A bus starts running with the initial speed of 21 km/hr and its speed increases every hour by 3 km/hr. How many hours will it take to cover a distance
of 252 km?

e o 21 for . ey eier Y YR aTfey & TofT 3RS el § T IHRT 1T F qdeh 6 & 3 o, gy wer oy gy @il &1 252 .l &1 gl 97 e & fov ag
fordey T T THEY 9f?

Options:

1)3

2)5

3)8

4) 10

Correct Answer: 8

Candidate Answer: 8

QID : 260 - A sum of Rs 400 becomes Rs 448 at simple interest in 2 years. In how many years will the sum of Rs 550 amounts to Rs 682 at the same rate?

400 %. T T TR &F aut 3 FTUROT sTTT T &7 T 448 . @Y ST &1 THAT &3 § fohcter auf # 550 %. T AR 682 . @Y smuafi?

Options:

1)2

2)3

3)3.5

4)4

Correct Answer: 4

Candidate Answer: [ NOT ANSWERED ]

QID : 261 -
. 1+x  x°
What is the value of = =< x(1—-x)7?
Jagh " Tt (-

14, X2
il x x(1- x) T AT FAT &2
1-3* 12

Options:

1) 1/x

2)x2-1

3)x+1

4) x

Correct Answer: 1/x
Candidate Answer: [ NOT ANSWERED ]

QID : 262 -

& 7
X" +—

If x+1=‘17, then what is the value of —X 7
X x°—3x+1

4

II‘Iﬁa‘x+—_*17’r-r"r X am
3X+'1

Options:
1) 2431/7

2) 33757
3) 3375/14

4) 3985/9
Correct Answer: 2431/7
Candidate Answer: [ NOT ANSWERED ]
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QID : 263 -
What is the value of x in the equation
’“_X _ /L _1,
X 1+x .6
HHTRIOT ek L% 8 H x@r
V x  Y1+x /B
AT T &7
Options:
1)-2
2)3
3)2
4) None of these
ST W IS A

Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

QID : 264 -

2 %

If 2{x2+iJ—2{x—iJ—8=0: then what are the
e

-1
two values of x— —7?
X

X

afe 2{x2+%}—2{x—1}—8=0,ﬁ’f x—%?ﬁ ar
AT FT £7

Options:
1)-1or2
-13r2
2)1or-2
13ar-2
3)-1lor-2
-13ar-2
4)1or2
13ar2
Correct Answer: —1 or 2
-13ar2

Candidate Answer: —1 or 2
-13r2

QID : 265 - In AABC, «BAC = 90° and AD is drawn perpendicular to BC. If BD = 7 cm and CD = 28 cm, then what is the length (in cm) of AD?

AABC #, £BAC = 90° a2 AD, BC TR o< @i aram &1 Ife BD = 7 .4 941 CD = 28 {.#I. §, dr AD &I oreams (A.7. ) fordeir §2

Options:

1)3.5

2)7

3) 10.5

4) 14

Correct Answer: 14

Candidate Answer: [ NOT ANSWERED ]

QID : 266 - A chord of length 60 cm is at a distance of 16 cm from the centre of a circle. What is the radius (in cm) of the circle?

60 §.#Y. oI Ueh ST Teh ged & e & 16 WAL A1 gl W §| ged i e (4.4, #) Fr g?
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Options:
1) 17

2) 34
3) 51

4) 68
Correct Answer: 34
Candidate Answer: 34

QID: 267 -
In the given figure, a smaller circle touches a larger
circle at P and passes through its centre O. PR is a

chord of length 34 cm, then what is the length (in cm)
of PS?

& 7% gl &, v ol @ UF T 7 S fig P
W TAY FT T & dU 38F &g O ¥ @t Terdl
%1 PR wer am & fomehy g 34 .. &, & PS
N FFag (@A A) FT T

5 Q
f'{/ = N,
/ h! LY
{ b Y
\ .“r/\ \I /
\\ I'\ \\ / ./'J'r
N
P
Options:
1)9
2)17
3)21
4) 25

Correct Answer: 17
Candidate Answer: [ NOT ANSWERED ]
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QID : 268 -
In the given figure, ABC is a triangle in which, AB =10
cm, AC = 6 cm and altitude AE = 4 cm. If AD is the
diameter of the circum-circle, then what is the length
(in cm) of circum-radius?

& € pfa #, ABC e = & fowat AB = 10
VA, AC = 6 B3 g fdeea AE =4 B T
g AD oI gF &1 =T &, dar are e fr awers

(@7 #) FmE?
- A
g ﬁ*&g
ln'{.r |'I ___ﬂ\f_\.--f" C
A | lir,,fff E ,]
/
N S
D
Options:
1)3
2)7.5
3)12
4)15

Correct Answer: 7.5
Candidate Answer: [ NOT ANSWERED ]

QID : 269 - What is the simplified value of cosec® A — cot® A — 3 cosec? A cot? A?

cosec® A — cotd A — 3 cosec? A cot? A FT e HTeT &7 87

Options:
1)-2

2)-1
3)0

41
Correct Answer: 1
Candidate Answer: 1

QID : 270 -

What is the simplified value of [22¢4-15
sec A+
sec A -1
=" T TIeiEd A T 2
sec A+
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Options:
1) cosec A —cot A

2)secA—tan A
3)sec 2A

4) sec A cosec A
Correct Answer: cosec A — cot A
Candidate Answer: [ NOT ANSWERED ]

Staff Selection Commision

QID: 271 - If tan A = 1/2 and tan B = 1/3, then what is the value of tan (2A + B)?

Ife tan A = 1/2 TAT tan B = 1/3, dT tan (2A + B) T ATl &7 gI9MT?

Options:

1)1

2)3

3)5

4)9

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID:272-

The pie chart given below shows the percentage of
time taken by differentprocessesin making a car.

e R v g9 R A w6 #R s #& REes
IHTTHT H oFE I AT & Fiaed & 0T IET

gl

Glass / efrerr

(1]
Seats / 77EY e

6%

Tyres /9fgdr
1%

Frame /2T=T
22%

"\, __Engine / &1

!
/
/

_Paint/ TT
13%

40%

If total time taken to make a car is 300 hours, then what is the total time (in hours) taken in paint and frame?

& R TATA H oIl aTell ol FHF 300 T &, A LT 7T &1 o AT el Tvctell Ty (goe &) fora aram gham?

Options:

1) 99

2)72

3) 105

4) 66

Correct Answer: 105
Candidate Answer: 105
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QID : 273 -

Staff Selection Commision

The pie chart given below shows the percentage of
time taken by differentprocessesin making a car.

9 Y v @ B A ™ #R s & RBEe
gt & oF = 9 THT F 9T F T T

gl

Glass / afrar

1]
Seats / TEr B

6%

Tyres /9fgar
11%

Frame / =T
22%

Paint / ToT

13%

Engine / =11

40%

If time taken in seats is 192 hours, then what is the time taken (in hours) in glass?

i et # fordm a1 el THT 192 GO §, A M A fohciar warg (wrvet #) foram arar gem?

Options:

1) 256

2) 352

3) 416

4) 278

Correct Answer: 256

Candidate Answer: [ NOT ANSWERED ]
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QID: 274 -

Staff Selection Commision

The pie chart given below shows the percentage of
time taken by differentprocessesin making a car.

9 Y v @ B A ™ #R s & RBEe
gt & oF = 9 THT F 9T F T T

gl

Glass / afrar

1]
Seats / TEr B

6%

Tyres /9fgar
11%

Frame / &ram
22%

Paint / ToT

13%

Engine / =11

40%

If total time taken in engine and tyres is 127.5 hours, then what is the difference (in hours) in time taken by frame and glass respectively?

i gofel T qigEl & TorT T ool THY 127.5 ©UL §, A shaver: Ty o um <l 3 foiw 10 §ard & el 1 3eT (Fvet #) fahce gram?

Options:

1) 27.5

2) 125

3) 40

4) 35

Correct Answer: 35

Candidate Answer: [ NOT ANSWERED ]
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QID : 275 -
The pie chart given below shows the percentage of
time taken by differentprocessesin making a car.

9 Y v @ B A ™ #R s & RBEe
IfITsT H R I AT & Wiaed S AT JET
gl

Glass / afrar

1]
Seats / TEr B

6%

Engine / =11
Tyres /9fgar 40%

1%

Frame /=T
22% Paint / o7
13%

15% of total time is spent on quality check and this time is equally taken from all other processes. So What will be the new sectorial angle (in degrees) made by total
time of seats and glass?

el GHT FT 15% HHAY J[OTdcc TRIGTIT H SIIT STl § AT Ig FHAY sreht Fef GTohan3ii & Ty 1 & SRIe Toram SArelm &1 &Y 1€y 2w <l & ool TG T 797 JooldUs
IoT (330t ) fohdeT grem?

Options:

1) 286

2)32.4

3)35.8
4)31.6

Correct Answer: 32.4
Candidate Answer: [ NOT ANSWERED ]

QID : 276 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Little knowledge of playing volleyball (1)/ that she possessed proved to be (2)/helpful at the time of inaugural match. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4) 4

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID : 277 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

I had not completed my English homework (1)/ so I thought I was done with when the (2)/ teacher asked me to hand it in. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 2

QID : 278 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Keith has with a failure in English examination thrice.
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9/8/2017 Staff Selection Commision
Options:
1) caught
2) gone
3) got
4) met
Correct Answer: met
Candidate Answer: met

QID : 279 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The manager was an explanation of his conduct.
Options:

1) called for

2) called off

3) called to

4) called up

Correct Answer: called for
Candidate Answer: called for

QID : 280 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Eloquent

Options:

1) Fluent

2) Ignorant

3) Rude

4) Significant

Correct Answer: Fluent
Candidate Answer: Fluent

QID : 281 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Nefarious

Options:

1) Iniquitous

2) Purposeful

3) Suspicious

4) Virtuous

Correct Answer: Iniquitous
Candidate Answer: Suspicious

QID : 282 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Ensconce

Options:

1) Establish

2) Impudence

3) Request

4) Unveil

Correct Answer: Unveil

Candidate Answer: [ NOT ANSWERED ]

QID : 283 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Lugubrious

Options:

1) Clumsy

2) Lucid

3) Optimistic

4) Sinister

Correct Answer: Optimistic
Candidate Answer: Lucid

QID : 284 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Ended in a fiasco
Options:

1) A complete failure

2) A successful event

3) Changed one completely
4) Twisted around
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Correct Answer: A complete failure
Candidate Answer: A complete failure

QID : 285 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Sow wild oats

Options:

1) To make someone fool

2) To make space to red

3) To take revenge

4) To waste time by doing foolish things

Correct Answer: To waste time by doing foolish things
Candidate Answer: To waste time by doing foolish things

QID : 286 - Improve the bracketed part of the sentence.

He has painted that picture so often that he can do it with his (eyes closed).
Options:

1) arms full

2) eyes opened

3) mind blank

4) No improvement

Correct Answer: No improvement
Candidate Answer: No improvement

QID : 287 - Improve the bracketed part of the sentence.

If you talk to her nicely, she will probably (allow you) her notes.
Options:

1) allow that you have

2) let you have

3) let you to have

4) No improvement

Correct Answer: let you have
Candidate Answer: let you to have

QID : 288 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Easily duped or fooled
Options:

1) Bigot

2) Gullible

3) Ridicule

4) Venerable

Correct Answer: Gullible

Candidate Answer: Gullible

QID : 289 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Atonement for one's sins
Options:

1) Elite

2) Ignoramus

3) Incendiary

4) Repentance

Correct Answer: Repentance
Candidate Answer: Repentance

QID : 290 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Usable

2) Defense

3) Inventor

4) Annaul

Correct Answer: Annaul
Candidate Answer: Annaul

QID : 291 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
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Options:

1) Changeable
2) Inedible

3) Tracable

4) Valuable

Correct Answer: Tracable
Candidate Answer: Tracable

QID : 292 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P- It would be better to speak of uniformities of nature.

Q- Law of nature are not commands but statements of facts.

R- This would do away with elementary fallacy that a law implies a law given.
S- The use of the word law in this context is rather unfortunate.
Options:

1) QSRP

2) SQRP

3) QSPR

4) SQPR

Correct Answer: QSPR

Candidate Answer: [ NOT ANSWERED ]

QID : 293 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P- When the game of life is finally over there is no second chance to correct our errors.
Q- Time is the greater equalizer of all mankind.

R- Time offers opportunity but demands a sense of regard.

S- It has taken away the best and the worst of us without regard of either.
Options:

1) QSRP

2) RSQP

3) PQRS

4) RSPQ

Correct Answer: QSRP

Candidate Answer: [ NOT ANSWERED ]

QID : 294 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

He saw him conducting the seminar on personality development.
Options:

1) He was seen by me to conduct the seminar on personality development.
2) He was seen conducting the seminar on personality development.

3) He saw the seminar on personality development being conducted by him.
4) He saw the seminar on personality development to be conducted by him.

Correct Answer: He saw the seminar on personality development being conducted by him.
Candidate Answer: He was seen conducting the seminar on personality development.

QID : 295 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

Rashmi said to me, "Where is the telephone exchange"?
Options:

1) Rashmi asked me that where the telephone exchange was.
2) Rashmi asked me where the telephone exchange was.

3) Rashmi asked me where was the telephone exchange.

4) Rashmi wanted to know where the telephone exchange was.

Correct Answer: Rashmi asked me where the telephone exchange was.
Candidate Answer: Rashmi asked me where was the telephone exchange.

QID : 296 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Corruption is a which has been spread in the mind of wrong people of the society, community and . It is the mistreatment of public resources just for
getting some advantage to fulfil little wish. It is concerned with the unnecessary and wrong use of both power and by anyone whether the government
or non government organisation. It affects the growth and development of the nation in all aspects like socially, and politically.

Corruption is a which has been spread in the mind of wrong people
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Options:
1) havoc
2) poison
3) pollutant
4) grassroot

Correct Answer: poison
Candidate Answer: poison

QID : 297 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Corruption is a which has been spread in the mind of wrong people of the society, community and . It is the mistreatment of public resources just for
getting some advantage to fulfil little wish. It is concerned with the unnecessary and wrong use of both power and by anyone whether the government
or non government organisation. It affects the growth and development of the nation in all aspects like socially, and politically.

of the society, community and . It is the mistreatment
Options:

1) country

2) world

3) universe

4) company

Correct Answer: country

Candidate Answer: country

QID : 298 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Corruption is a which has been spread in the mind of wrong people of the society, community and . It is the mistreatment of public resources just for
getting some advantage to fulfil little wish. It is concerned with the unnecessary and wrong use of both power and by anyone whether the government
or non government organisation. It affects the growth and development of the nation in all aspects like socially, and politically.

public resources just for getting some
Options:

1) fruitful

2) wishful

3) favourite

4) unfair

Correct Answer: unfair

Candidate Answer: unfair

advantage to fulfil little wish.

QID : 299 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Corruption is a which has been spread in the mind of wrong people of the society, community and . It is the mistreatment of public resources just for
getting some advantage to fulfil little wish. It is concerned with the unnecessary and wrong use of both power and by anyone whether the government
or non government organisation. It affects the growth and development of the nation in all aspects like socially, and politically.

wrong use of both power and
Options:

1) position

2) growth

3) status

4) symbol

Correct Answer: position
Candidate Answer: position

by anyone whether

QID : 300 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Corruption is a which has been spread in the mind of wrong people of the society, community and . It is the mistreatment of public resources just for
getting some advantage to fulfil little wish. It is concerned with the unnecessary and wrong use of both power and by anyone whether the government
or non government organisation. It affects the growth and development of the nation in all aspects like socially, and politically.

nation in all aspects like socially,
Options:

1) emotionally

2) scientifically

3) manually

4) economically

Correct Answer: economically

Candidate Answer: economically

and politically.
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